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5.67 =5+0.6+0.07
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@ 0.6,3 ® 0.6,1.003

1.673 = 14 0.6 + 0.07 + 0.003




[ 2
> ®eh: 9.235

1°]9:9
0.1°0]2: 0.2
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Zholl Ak 455 AR & AL D2 L,

6902 |-7102-[ ]

® 7.2,7.22 @ 7.2,7.202 ® 7.02, 7.202

@ 7.002, 7.22 @7.002, 7.202

~&B

7.102 - 6.902 = 0.2 4t}
5 7ol 0,192 Hol A7 8 st Yuet,
AAM [ |=6.902+ 0.1 = 7.002

= |=7102+0.1 = 7.202




® 5.73, 5.742 @ 5.73, 5.7415 @5.74, 5.742
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AW [ ] =5.741-0.001 = 5.74
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(1) 5.622 0.010] [ ]2l $g4Urh
(2) 7.7-€0.01] .

[ ]
(3)5.62+7.7=[ Jol &

@ (1) 56.2 (2) 77 (3) 13.32 @ (1) 56.2 (2) 770 (3) 13.32
@(1) 562 (2) 770 (3) 13.32 @ (1) 562 (2) 77 (3) 13.32
® (1) 562 (2) 7.7 (3) 13.32

(1) 5.62= 0.01°] 562 ¢ Fo|c},
(2) 7.7-2 0.01°] 770 §1 40|t}
(3) 5.62 + 7.7 = 13.32 °] Hch.
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(5) 40.68

B

(1)2.9+1.28 =4.18

(2) 5.91 + 2.87 = 8.78

(3) 3.8 4 6.09 = 9.89

(4) 24.12 4 5.49 = 29.61

(5) 37.41 4 3.27 + 3.27 = 40.68
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4892 +217<70 1
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\VARR 4
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4.892 + 2.17 = 7.062
7.062 < 7.0__J1

[ Je6HT & Satolng 7,8, 90|},
whEbA] 74849 =24
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ohg 440 e oAl

5.281 + 3.55

[ 2
[> =g 8.831

5.281 + 3.55 = 8.831




22,

8] $AE 8.52kg AUITh, S5 FAL o] AR 2500 o
5341, B2 B 359 At 6535 & FPESUT B2
SAL 9 g AA] FHAL,

> = ke

[> HE . 10457kg

2590 g = 2.59kg, 653 g = 0.653kg
(S50 2A)= 8524259 =11.11(kg)
(FZo FA)=11.11 — 0.653 = 10.457(kg)
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ZF27F0.85m , AI27} 0.73m Q1 DA Q] 712 9] Zdo]& 0.32m
Zo|al, A|29] Zol& dut R Y = o] Az o] H 5T
Mzo] ZAol& H m A=A 1olA L.

» E: m

> FEe: 0.2m

FolE 7F2 9] Zo] & 0.85 - 0.32 = 0.53(m)
BAF o] HEH Al29] Aol 0.53m 7} Hojof gt
0.73 - 0.53 = 0.2(m)
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